Math 240 - Quiz 3 Name _Key

September 24, 2020

Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due

on September 29.

1. (3 points) Consider the followipg ODE:
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(a) Show that yi(z) = 2° and ya(z) = 22 are solutions fot z > 0.
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(b) Use the Wronskian to show that y1 and yo are linearly 1ndependent on (0, 00).
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(c) Find the unique solution that satisfies y(2) = 10 and ¢/(2) = 15.
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2. (3 points) Consider the following ODE:

vy + (y)* = 0.

(a) Show that y;(z) = 1 and ya(x) = \/z are solutiéns.
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(b) Show that y;(x) + y2(z) is not a solution.
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(¢) Why should you not expect the sum of solutions to be a solution?
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3. (4 points) Find the general solution.
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(b) 9y — 12y + 4y = 0
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